
760082545    |    RK4P45-29S

©2025 CommScope, Inc. All rights reserved. CommScope and the CommScope logo are registered trademarks of CommScope and/or its 
affiliates in the U.S. and other countries. For additional trademark information see https://www.commscope.com/trademarks. All product names, 
trademarks and registered trademarks are property of their respective owners. Revised: February 7, 2025

Page  of 1 2

Equipment Rack, 4-Post, 29 in (737 mm) D x 7 ft (2134 mm) H - 19 in 
(482.6 mm) Steel (45U) 3/8 Sq Punch, Black

OBSOLETE
Replaced By:

760175703
RK-4PE-45-29S

Equipment Rack, 4-Post, 29 in (737 mm) D x 7 ft (2134 mm) H - 19 in (482.6 mm) Steel (45U) 3/8 Sq 
Punch, Black

760175729
RK-4PE-45-36S

Equipment Rack, 4-Post, 36 in (914 mm) D x 7 ft (2134 mm) H - 19 in (482.6 mm) Steel (45U) 3/8 Sq 
Punch, Black

Product Classification
Regional Availability Asia    |   Australia/New Zealand    |   EMEA    |   Latin America    |   North America

Portfolio CommScope®

Product Type 4 post rack

General Specifications
Color Black

Rack Type EIA 19 in

Rack Units 45

Rail Mounting Hole 3/8 in

Dimensions
Height 2,133.6 mm   |   84 in

Channel Width 76.2 mm   |   3 in

Width 518.16 mm   |   20.4 in

Depth 1,041.4 mm   |   41 in

Dimensional Standards EIA-310-E

Material Specifications
Finish Powder-coated, textured

Material Type Steel



760082545    |    RK4P45-29S

©2025 CommScope, Inc. All rights reserved. CommScope and the CommScope logo are registered trademarks of CommScope and/or its 
affiliates in the U.S. and other countries. For additional trademark information see https://www.commscope.com/trademarks. All product names, 
trademarks and registered trademarks are property of their respective owners. Revised: February 7, 2025

Page  of 2 2

Mechanical Specifications
Load Rating 907.185 kg   |   2000 lb

Environmental Specifications
Safety Standard UL    |   cUL

Packaging and Weights
Included Base pan    |   Forty #12-24 x 1/2 in mounting screws    |   Forty M6 cage nuts    |   Four vertical rack 

rails    |   Instruction sheet    |   Twelve 3/8 in split lock washers    |   Twelve 3/8-16 UNC x 1 in hex head 
bolts    |   Twelve 3/8-16 hex nuts    |   Two extruded base angles    |   Two extruded top angles    |   Upper 
plate support

Packaging quantity 1

Packaging Type Flat packed

Weight, net 47.63 kg   |   105.006 lb

Regulatory Compliance/Certifications
Agency Classification

ISO 9001:2015 Designed, manufactured and/or distributed under this quality management system


